[ Efficiency vs vertpos |

0.5

. 4..44 .44

0.95

1072 107 1

10 10?

—=— DQM_TT__mkFit-DQM_i2

Efficiend —— pQm_TT__mkFit-DQM_adjustedi2

0.1

e

e e o
e Sty AR
T s i R
0.05F -+ S e
0.04F -+ TR s
0.03F -+ }uuug___¥;"""@"
1707 SR SO SO £ SN

0.01 - ?~~-~@--H$ﬂﬂ+

.............

.............

.............

H
T

0.95!

[ Efficiency vs. sim PV z |
0.05

0.045
0.04
0.035
0.03
0.025
0.02
0.015
0.0
0.005

0

..............................

Y
¥

FRVS)

iy

|
o

|
[é)]
[&)]
[any
o




	Contents
	Page 1


